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dy = 3x2 −3( )dx
dy = 3 22( )−3( )0.05 = 0.45
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dy = x2 1
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dy = 1+ 2 1( ) ln1( )0.01= 0.01
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dy = 0+1( ) −0.2( ) = −0.2
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dy = esin x cos x( )( )dx
dy = esinπ cosπ( )( ) −0.1( ) = 0.1
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dy = −3csc 1− x
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y 1+ x( ) = x⇒ y = x
1+ x

⇒ dy =
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y 2+ x( ) = x2 ⇒ y = x2
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24)	
  dy = 5e5x + 5x 4( )dx 	
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  dy = 1

1+ 4x( )2 4( )dx = 4
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26)	
  dy = 8x ln8+8x 7( )dx 	
  
	
  
31)	
  	
  
dV = 4πr2dr

dV = 4π 10( )2 .05( ) = 20π  cm3
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dS = 8πrdr
dS = 8π 10( ) .05( ) = 4π  cm2

	
  

	
  
33)	
  
dV = 3x2dx

dV = 3 10( )2 .05( ) =15 cm3

	
  

	
  
34)	
  	
  
dS =12xdx
dS =12 10( ) .05( ) = 6 cm2

	
  


